In [17]: plot([log(1l+x),x,log(l+pi/3)+1/(1+pi/3)*(x-pi/3)1,0,pi,legend label=['log(1l+x)",
'x', 'log(1+pi/3)+1/(1+pi/3)*(x-pi/3) '1)+line([(pi/3,0), (pi/3,pi/3)])+line([(pi/2,
0),(pi/2,pi/2)1)
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In [16]: plot([sin(log(1l+x)),sin(x),sin(log(1+pi/3)+1/(1+pi/3)*(x-pi/3))]1,0,pi)+line([(pi/
3,0),(pi/3,sin(pi/3))1)+line([(pi/2,0), (pi/2,sin(pi/2))])

Out[16]:
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In [12]: print integral(sin(log(1l+x)),x,pi/3,pi/2).n()
Out[12]: 0.387188695583503

In [13]: print integral(sin(log(1+pi/3)+(x-pi/3)/(1+pi/3)),x,pi/3,pi/2).n()
Out[13]: 0.390346079572758

In [15]: print integral(sin(log(1+x)),Xx)
-1/2*%(x + 1)*(cos(log(x + 1)) - sin(log(x + 1)))

In [0O]:



